restart;
v := Vector([1,1]);

V=
w = <2,1>;
2
W=
1
V+W; -
3
2
2*v, o
2
2
V.W;
3
b := Vector(2);
0
b:=
0
for i to 2 do bJ[i] :=1i; od:
b;
1
2
A := Matrix([[1,1],[1,0]]);
1
A=
10
B := Matrix(2,2);
B:=
for i to 2 do

for j to 2 do
BLi,j] 1= i+]j;
od;
od:
B;
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(2 3
3 4
(> 2*A: _
2
2 0
=> A+B;
4
4
_> A.B; ]
7
2 3
_> A.v
2
1
_> 1/A;
0 1
1 -1
;> with(LinearAlgebra):
> A;
11
10
B Determinant(A);
i -1
| To solve Ax = b for x
> LinearSolve(A,b); ]
2
-1
(> (1/A) . b : _
2
-1
B \I2 := IdentityMatrix(2);
1 0
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> B :=

> A =

<A|l2>;

[ > solve(C=0,x);

[ > fsolve(C=0,x);

[ > Eigenvalues(A);

[ > Eigenvectors(A);

= =T

/5

1
2

B d := Determinant(A);

d:=y22—zy2—|—><);—xzz+xzz—x2y

[ > factor(d);

-0.6180339887, 1.618033989

+

75

-(-z+y) (x—2) (x—Y)

N |

> ReducedRowEchelonForm(B);

A=

100

1110
1001

1

011 -1
(> C = CharacteristicPolynomial (A,x);

|

Ci=-1+x —x

/5

Matrix([[i,l,l],[x,y_,z_],[x"2,y"2,z"2]]);

u .
= 5 _
2\/—+2
1 1
— —=45
2 2\/_
1 1 1
2\/? 2 2 s
1 1
1 1 1
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